3" Universal Mount Series

/‘, ) >

MT-MR-UM-0250-0250-0025-090-XX MT-MR-UM-0250-0550-0025-090-XX

MT-MR-UM-0250-1150-0025-090-XX

Standard Material | Steel = A36 Low Carbon Steel | Aluminum = 5052-H32 Aluminum
Standard Finish | 02 - No Finish
Available Finish(es) N/A
Hole Size | 11/16” (17.46mm)

Recommended | 5/8"-11Thread Grade 8 Bolt, 2" Long | 5/8" SAE Zinc-Plated Washer | 5/8"-11 Thread, Grade 8 Hex Nut
Hardware | (\116 x 2 Thread, 50mm Long, Class 10.9 Bolt | M16, Class 10.9 Washer | M16 x 2 Thread, Class 10.9 Nut)

Recommended Tools | Tool Kit 1

For More Info | www.ModTruss.com

MT-MR-UM-0250-0250-0025-090-ST 2.50" x 2.50" x 0.25" 0.651bs (0.29kg)
37x3"x1/2"90° Universal Mount Steel (63.50mm x 63.50mm x 6.35mm)
MT-MR-UM-0250-0250-0025-090-AL 2.50" x 2.50" x 0.25" 0.201bs (0.091kg)
3% 3" x 1/2"90° Universal Mount Aluminum (63.50mm x 63.50mm x 6.35mm)
MT-MR-UM-0250-0550-0025-090-ST 2.50" x 5.50" x 0.25" 1.65lbs (0.74kg)
37 x6"x 1/2"90° Universal Mount Steel (63.50mm x 139.70mm x 6.35mm)
MT-MR-UM-0250-0550-0025-090-AL 2.50" x 5.50" x 0.25" 0.551bs (0.24kg)
3" x6"x 1/2"90° Universal Mount Aluminum (63.50mm x 139.70mm x 6.35mm)
MT-MR-UM-0250-1150-0025-090-ST 2.50" x 11.50" x 0.25" 3.451bs (1.56kg)
3" x12"x1/2"90° Universal Mount Steel (63.50mm x292.10mm x 6.35mm)
MT-MR-UM-0250-1150-0025-090-AL 2.50" x 11.50" x 0.25" 1.20Ibs (0.54kg)
37X 12" x 1/2"90° Universal Mount Aluminum (63.50mm x 292.10mm x 6.35mm)

In Stock Reusable

U.S. Patent No. 8,418,425 & other patents pending
105



XX-060-G200-XXXX-05C0-WN-dW-1W

[oL'g€]

¥43IWNN 18Vd ﬁomm”& ﬁo —Nm& — 051
ATWYH INNOW TVSd3AINN € 0se ﬁr AL
‘NOILdI¥O$3a
waosnas| 4102/5/8
o O O @
WW NI 33V SNOISNIWIQ [ ] 13¥0vag - ““:hhﬁvgz \Eu ’
[65°L] 907 -QIN : 1IATTNOSIDId | =
Al
[5€9] mw. s; [02°9/] [S/1€]
G¢d 00°¢ Gl
XX-060-5C00-051LL-0920-WN-IW-IW
=
¥-060-5200-05 1 1-0SZ0-WN-4W-LW | WANIWATY | .S'1IX.GT lov'gg] S
15-060-5200-05 | 1-0SZ0-WN-4W-LW REEI S1IXST %?@m&ﬁr o loceel] L e b
0S¢C 0SS S
¥-060-$200-0S50-0S20-WN-4W-LW | WANIWNTY SGXST i =1
15-060-5200-0550-0520-WN-4W-LW 13318 SGXST [05°€9] Q 2
05 K S w
V-060-6200-0520-05Z0-WN-4W-IW | WNNIWNTY STXST T ov-21] a9 S
\ S
15-060-5200-0520-0520-WN-4W-LW 13318 STINST f5e9] 69 =
SIINNN L3Vd TVINILEAW | HIAIM X THON3T [5€9] o7y . ) P
oz [02'9/] [S21€] =
= . . =
3 00'€ il 5
S XX-060-5200-0950-0920-WN-IW-IW =
2 4
S
b0 <~
mo = 05°€9)
82 L%ET 052 o1'se]
x < 0S¢ ‘ .
o = t 0s'1
=] HLdIM ) l05'¢9] W
[ o
\ ./ .
e = (IHONTT }—/ / 052 Q2
2 3 , N
b3 oY LL
2 [se9] | [Sc1€] ﬁ%.s;
= ST GC' 1y
=
- = XX-060-5200-0520-05C0-WN-YW-1IW | [scug]
o I .
= & Al
T}
I
== >< =l - = =t O — - - - = -




